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0y Mo
0
-
an
o

O
H
o
o
Q
é

[
tm
(==
i
H
=

M H

UL

SUHME L ==SI1H A2 200,000 0 200,000

100,000
100,000

o

405 XtatE SHI 200,000 0 200,000
100,000
100,000

RYRY

S5 F Sl 200,000 0 200,000
OL=sIIHUA 200,000
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SN SEXNED
g s EsI=XE
Sel SIIHAYE 2 (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— IOl ZEHE D] 20,000,000% = 1CH 20,000
= 10,000
[ia 10,000
- ZEII(E) 38,300,000 = 1CH 38,300
- 19,150
s 19,150
—AJl2%4 29,000,000 »2CH 58,000
= 29,000
[ia 29,000
— SEEHI & ED 23,000,000 = 1CH 23,000
= 11,500
fia 11,500
— &EOFRIIHA O 9,800,000 »2CH 19,600
= 9,800
[ia 9,800
- AgEEZRI 8,300,000 »2CH 16,600
- 8.300
i 8,300
—-SH=EEI(E) 8,700,000 »2CH 17,400
= 8,700
s 8,700
— G200 7,100,000 = 1CH 7,100
= 3,550
s 3,550
HE2LAZH (sEXJA D) 36,082 38,902 A2,820
Jl23&dl 36,082 38,902 A2,820
Jl2Zl 36,082 38,902 A2,820
201 Let2d] 18,682 18,682 0
01 At 22l 14,482 14,482 0
OANRY 29 14,482
— =AUz 330,000& x12& 3,960
-2 F2=E= 250,000& =128 3,000
—AREF 7Y 200,000& »12& 2,400
&N 2 83,330&+12& 1,000
—SAMSI 7Y 22,900& x 15 A %128 4,122
02 2=l 4,200 4,200 0
OAMEH 2¢ 4,200
— AR Haes 50,000 *70 2128 4,200
202 Od4dl 12,240 15,000 N2,760
BIETEI 5,040 9,600 ~4,560
ORM2g =L 20,0003 x21H x12& 5,040
02 8 % 01 bl 7,200 5,400 1,800
OSY sglagAd XN
150,000 4 H < 12& 7,200
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2N sEXNI L
M HESHAH (SENAD)
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
203 R F & 5,160 5,220 A B0
04 EASHEIRFAH| 5,160 5,220 A B0
OBNM2gI2F=&| 5,160
—J|= 400,000 x12& 4,800
— =D} 5,000 x6H x12& 360
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